"‘@“ K.P.C PUBLIC SCHOOL, KHARGHAR
= 1 ASSESSMENT EXAMINATION 2023 - 24

Subject: Maths

Std: 11
Time: 2 hours

Name:

Roll no:

Marks Obtained:

Q1. Fill in the blanks:

1) 14+7-

2) 13x5+-
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4) The short form of kilogram 1s

5) 12x =96
6) 77+11=

7) Xx7=63

8) 13x6=_

9) x 10 =80

10)35 + =7

IH13x3  _ 10x3 (Put proper sign <, > or =)
12)I2x1 _ 2x6 (Putproper sign <, > or =)

13) The short form of millilitre is

Marks:

Date:

('lass Teacher’s Sign:
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Rough work



Q2 ¢
Solve the foltowing: 12om| Rough work

A) Show 18 + 3 on the given number linc. [2M] ;‘
|
M
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B) Complete the multiplieation grids: [4M| \
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D) Divide using repeated subtraction

12M] Rough work
1) 20+4 2)24+ 6
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E) Complete the table. [4M| \\
®

|
~ Division fact

| ll Dividend " Divisor K R 'duot'lient |
| \
9+3- ] |
l
\

S

30+5=

F) Observe and write the answer.
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G) Divide cach of the given figures as asked and shade the portions.

[2M] | Rough work

a) Third

b) Quarter

Q3. Word problems

[12M)
1) A worker earns about Rs 150 an hour. How much he wil| earn if he works
for 6 hours?

Sol. Given:

To find:

Ans:

2) There are 125 mangoes in a basket. How many mangoes are there
in 6 such baskets?

|

|

|

Sol. Given: \




. D) Divide using repeated subtraction. [2M]  Rough work

1) 20+4 2)24+6
I -
S R | \

""" o \
\
|
f |

E) Complete the table. [4M] "
® |
" Division fact | Dividend Divisor |  Quotient | :
9+3= |
> \
30+5= 1
|
F) Observe and write the answer. 2M]
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To find:

- o Rough work

5|
-

H 0

Ans:

3) 60 flowers have to be put in 10 vases. How many flowers should
be put in each vase?

Sol. Given:

To find:

Ans.




Q4. Write table of 12 or 14 (any one) [SM] Rough work e
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